
Родитељ Србија 

Иницијални тест, 2. раред 
 
Решења: 
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4. 29 78 17 43 

 

5. а)  10 8 9 5 1 

б)  14 14 7 4 8 

 
6. 1.   2.  3.  4.  5.  6.  7.  8.  9.  
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Родитељ Србија 

7. а)   2,  4,  6,  8,  10 

б)   21,   23,  25,  27,  29 

 

8. а)    2 + 15 = 17 

б)    19 – 10 = 9 

 

9. а)   9 4 53 40 

б)   99 80 70 
 

10.   а) 30 + 5 = 35 

       Дужина друге стазе је 35 метара. 

  б) 100 – 55 = 45 

       Остаће јој 45 динара. 
 

11. Прва: 24 

Друга: 24 – 14 = 10 

Трећа: 24 + 10 = 34 

Укупно: 24 + 10 + 34 = 68 
 

 


